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JE{Z K4 FEHFI—X ouT IN GROSS
1 AE Hith KHIY 37 36 73
2 28 #mt SF4L 37 37 74
3T Fih &3l =R 38 37 75
3T =t EBE BE 39 36 75
3T KIE & KE 38 37 75
3T = H e =i 39 36 75
3T FEZ R RS 38 37 75
8T hiE Kit < EREE 38 38 76
8T B FE NUWA 38 38 76
8T ] F0FE BE 39 37 76
8T =H 5h7F A= 36 40 76
12T AIE {&1E 4yay7 38 39 77
12T ha & & 39 38 77
12T £ =F ayny7’ 39 38 77
12T MAE K= 7<= 37 40 77
12T NE B fif] LI 22 40 37 77
12T Bl #3iE =AYy 39 38 77
12T B X I-h=) 38 39 77
19T L L £HIY 38 40 78
19T EMH =A t#pE 39 39 78
19T INIL FEHE & 38 40 78
19T EFR EER 7<= 41 37 78
19T =M S =R 40 38 78
19T Sl EE R 39 39 78
19T R t#pE 36 42 78
26T wH S8 =R 40 39 79
26T B BHEA =R 39 40 79
26T B2HF ThiE I—kA=) 37 42 79
26T INER ERA R 38 41 79
26T Bl BR t#pE 45 34 79
26T D EE £#H2Y 41 38 79
32T L EZE HERDFE 39 41 80
32T ®E BE YRDIYP, 38 42 80
32T mE EX 4V t=h 42 38 80
32T ic i [ = 7—Jb 41 39 80
32T #FL BN KE 41 39 80
32T ¥ E£E KB 7 40 40 80
32T BK RE [k dal 42 38 80
32T WiE EER RE/& 43 37 80
32T B ¥ BEZHL-) 42 38 80
4T BER EA TAS-R 39 42 81
41T 5% 5 EEHL-Y 39 42 81
41T ANEH B2 A& 44 37 81
4T BE = I—kA—)L 41 40 81
4T a5k BF PANG Al o 40 41 81
T I=RECER [k Jal 41 40 81
4T B Eh t#pE 42 39 81
4T BRE RE1E fif] LUy 22 & 38 43 81
41T HFE = 7=k 40 41 81
41T HIE F# e 41 40 81
41T Il IEfE Rk 41 40 81
52T EET: ZE4E 42 40 82
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52T xR 2 e 41 41 82
52T ER BiE 4yay7 41 41 82
52T Mg BE JIuNt=h 42 40 82
52T WH % 74/ 40 42 82
52T =8 &= ANTANT 46 36 82
52T A EiE 4yay7 46 36 82
52T He Hh #E 36 46 82
52T =8 K b PN 43 39 82
61T WE &F BE 42 41 83
61T JIlig 32PE =S 41 42 83
61T FAE EA L E 40 43 83
61T = BE NUWA 42 41 83
61T BAX X+ £HOY 41 42 83
61T IEEE.N v 42 41 83
61T FZF A 1E[ElER 41 42 83
61T INE BRE TAI=R 46 37 83
61T FEPNE BERmE 40 43 83
61T & B < EREE 41 42 83
71T ;A0 HEsh SFAL 42 42 84
71T 8 IR PR 44 40 84
1T BB E—E BE 43 41 84
1T WX BEF BERmR 44 40 84
T AIE ERA ZEIAE 40 44 84
71T RIE IFC £HIY 41 43 84
1T INES FREN TAI—=R 43 41 84
71T bR —t = 40 44 84
71T SATEF thOR 1€ [B1 ER 44 40 84
71T JIfE IEZE £HDOY 41 43 84
71T Ei EFH =R 44 40 84
1T AH FiE £HIY 43 41 84
71T T #EF PN ) 43 41 84
71T ERK XK 4yay7 45 39 84
85T EEREE BERmE 43 42 85
85T =0 'K P 43 42 85
85T Ho B ANTRAINY 43 42 85
85T M EX KE 47 38 85
85T ZEH & KE/& 45 40 85
85T e ARAD BERmE 41 44 85
85T B E— 7%/ 43 42 85
92T JKIE {FE0ER 7< B = 41 45 86
92T EiH = t#pE 43 43 86
92T m ER 71/ 44 42 86
92T il =i BERmE 45 41 86
92T TR Pl ) 43 43 86
92T =EEE = 44 42 86
92T fEfs R BE 46 40 86
92T I BARA t#pE 43 43 86
92T A B £HIY 45 41 86
92T A FEff t#pE 47 39 86
102T L#EE = YA4-R 45 42 87
102T =H % t#pE 43 44 87
102T BK BN HBEHE 47 40 87
102T fRE % HABKIE 46 41 87
102T AGRH RE J—b 39 48 87
102T wiE Kt B A 42 45 87
102T A B+ =R 47 40 87
102T FENNF DI ] 43 44 87
110T B G 1—hA—)b 44 44 88
110T RRE FH = 46 42 88
110T NI E— 7=k 43 45 88
110T BHIR R 2 = 50 38 88
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110T AiE R = 45 43 88
110T E BE E &I 44 44 88
110T BER FE = 43 45 88
110T EH RiE 4yay7 42 46 88
110T 2R FX KF 45 43 88
110T B B 1—FA—) 44 44 88
120T HEE KM #pE 41 48 89
120T Kl HWE ANTANT 45 44 89
120T 2l 5E— VDI ] 47 42 89
120T Cih: AP ol 47 42 89
124T ARER FiE t#E 45 45 90
124T b8 B5E v 42 48 90
124T w®H (& =L+ 47 43 90
124T B O ANG I 45 45 90
128T B X VAG4—A 46 45 91
128T fEiE EA 1—pA—)) 43 48 91
128T (R = 47 44 91
128T AE £= B 46 45 91
128T I 3R PR 44 47 91
128T B EE ZEH&E 47 44 91
134T HZlg = I—kA=)L 46 46 92
134T BE E— Lz 46 46 92
134T Hft [EH R 47 45 92
137T bt {E—ER £#H2Y 44 49 93
137T ¥ ZEH =L+ 46 47 93
137T AT 4yay7’ 47 46 93
137T N KT 46 47 93
137T EX ¥ t#pE 50 43 93
137T X BAfE KErn7 47 46 93
143T AE Bk & 46 49 95
143T FH F— HBEFE 49 46 95
143T WA M E3FES 51 44 95
143T =N B —9A 48 47 95
143T BE ME TAS-R 46 49 95
148T BIELIK IVAN = 52 44 96
148T bl KE 52 44 96
148T HFo EE fik il 49 47 96
151T ¥8 Y H KF 45 52 97
151T HHE f#— RE/& 46 51 97
153 e _B=x t#pE 54 44 98
154 1 VN ZR&E 47 54 101
155 =T 15 HEKIE 55 50 105
156 MDY BT = 50 56 106
157 A & HEKIE 47 62 109
158 EF R+t BE 52 58 110
NR BIE J[E—ER YA4-R - - -
ZiE a8 FAtt ANTRINY - - -
ZiE Eff] F% =L+ - - -
ZiE EH @88 1€ [B1 ER - - -
ZiE SR BEKER t#pE - - -
ZiE &S RN 1= - - -
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